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gExample 2.2: The following data shows the ages of 50 cancer patients admitted
in Shaukat Khanum Memorial Hospital, Lahore :
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48 | 29 | 39 | 32 | 54 | 33 | 44 | 36 | 38 | 31
46 | 30 | 20 | 44 47 | 39 | 42 | 35 33 | 47
31 | 35| 34 | 427 41 | 42 | 43 | 35 | 32 | 35
43 | 36| 37 | 45 | 46 | 41 |25 | 27 | 26 | 40
38 | 41 | 44 | 47 | 45 | 45 | 52 | 43 | 44 | 43




Ages | Class
(Class limits) fally s boundaries
20-24 |/ 1 19.5-24.5
25-29 |/l 4 | 245-295
30-34 | HHIN 84| 29.5-345
35-39 | M 11| 345-395
40— 44 | ML | 15| 39.5-445
45-49 | HH I 9 44.5-49.5
s0-54 |/ > | 49.5-545
5 50
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Example 2.3: Make a cumulative frequency distribution. Also find relative
Srequency & cumulative relative frequency for the following
data:

Ages S/
20 - 24 1
25-29 4
30-34 8
35-39 11
40 - 44 15
45-49 9
50 - 54 2
Solution:
Relative
. cr.f
Cumulative frequency ;
Ages i s frequency c.f |
boundaries ' f = |
| (c.f) rf=— of
2f
20-24 | 1| 19.5-245 I 0.02 0.02 |
25-29 4 24.5 -29.5 1+4=5 0.08 0.10
30-34 | 8 | 29.5-345 5+8=13 0.16 0.26
35-39 |11 34.5-39.5 13+11=24 0.22 0.48
40-44 |15 39.5-44.5 _24+ 15=39 0.30 0.78
45-49 | 9 44.5 - 49.5 39 +9 =48 0.18 0.96
50-54 | 2 49,5 -54.5 48 +2 =150 0.04 1.00
z S0 e — 1.00 -——
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Example 2.1: The following data shows the number of children in differen
SJamilies of a small locality:

1’ 2’ 4’ 3’ 0’ l’ 2’ 39 1!-13 09 2: 11 09 29 3, 0’ 0’ l’ 3‘
Make a frequency distribution. Also find relative frequencies.

Calutinn-
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f Jeelative
} LR
The number of Tall The number of | reguency
children i families (f) | g
- Ty
m—— U ——— ™ //// f; ] :;-)ifl r) 21
| i 1 6 | 6/ =039
2 i 4 420 =020
3 1/ 4 z 4/20) = (.20
4 / ] | 1/20=005
~ —— | 20 | 1.90
e W B | o e | . J
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The following data gives the life time in minutes, recorded Neareg
tenth of a minutes.
1.2 2.2 i ¥ 3.9 1.7

25 09 34 2.8 3.7
3.9 6.3 22 2.1 1.3 0.3 0.4 24 21

3.5 2.9 1.2 53 1.7 1.8 4.8 32 1.6
2.6 1.8 2.3 1.3 3.1 1.5 2.6 5.9 2.0 1,23
Using 8 intervals with the lowest starting at 0.1.

i) Form a frequency distribution and a cumulative frequenu

distribution.

9 14 1.8 20 43
5 04 28 11 g,
1
7

NNMH
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~ Classes - 1 C.B C.f
- 0.1-0.8 | ## 51 0.05-0.85 S
- 09-1.6 | H41 9 | 0.85-1.65 14
1.7 =24 | HHHH HH 15 | 1.65-2.45 29
2532 | HHHH 10 | 2.45—-3.25 39
"33 4.0 [AH] 6 | 3.25_4.05 45
4.1-48 |/l 2 4.05—-4.85 47
~49-56 |/ T | 4.855.65 43
57—-64 |/ 2 | 5.65-645 50
L = | — 50| - |
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